BD FACSDiva 8.0.2

Specimen_001-C2 _ Specimen_001-C2
o+ i |
&7 T
m = 4
U:Iﬁ (T
T TTTTT T T TTTIT I T TTTrT I TTT T T TTTrTT T T TTTrT T
» 115:' 1&‘ 135 » 1c||:' 1&‘ 1&5
FSC-A FEC-A
Specimen_0071-C2 Specimen_001-C2
£ 53
8 ] S a3
= ||||||||2 T T |||||||:I :_I |||||||2 T TTTT 1 |III|M||||||1 T T IIIIIIIS T
10 i} 0 10 0 10 10
FEC-A FE-&,
Well: C2
Population EEvents %Parent % Total
B 2l Events 2,255 HHEE) 1000
= Iz 332 147 147
- P2 a0 35 35
-l P3 121 54 54
-l P4 6 03 03
- @11 3N 16.5 16.5
- G2-1 480 21.3 21.3
--Pd] @3-1 534 237 237
-] Q41 a70 38.6 38.6
-0 Q-2 21 09 09
- Q2-2 642 2858 285
g Q3-2 283 396 396
- [d] Q-2 a9 3.0 3.0
-4 Q1-3 200 29 2.9
-] 2-3 547 243 243 ¢
-l Q3-3 672 288 288
--[d] Q4-3 236 371 371
-] P5 261 11.6 1.6
-l PG 44 20 20
-l P7 218 97 9.7

Global Sheetl Printed on: Tue Nov 16, 2021 02:00:19 CET



BD FACSDiva 8.0.2

Specimen_001-C2 Specimen_001-C2

103

il

14
4
I? 111111

1

PE-4

107

PE-Texaz Red-a

rur

1

Ry P e T T — T - T
;i-:l |i|| T TTTTT 11 ||'|||| T ’&) 1 10 1|_‘||s
107 '1:135(}}ﬁk 107 FSo-4
Specimen_001-C2
£
= -
2 3
&g
FITC-4
Specimen_0071-C2
A
[m] =
G e
I’y
10 10 107
PE-Texaz Red-A
Specimen_001-C2 | Specimen_001-C2
Emi + |
= - =3 .
] = = i
2 . -
3 ur -
4 I:I_i.'V:;CH
% :|IIIIIII T |:|I |:I|.IIIIIII|1 T ||||||||
-1 e -1070 10 FITC=A

Global Sheetl Printed on: Tue Nov 16, 2021 02:00:19 CET



